CAAL 1 Se\ekioms -
Exercise#1 [7.5 marks|.
(a) Use the sequential criterion for limits to show that the following limit does not

exist:
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(b) Use the & — ¢ definition for limits to prove that
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Exercise#2 (7.5 marks|. Prove or disprove.

(a) If lim f(x) = oo and 11111 g(ﬂ:) = 00, then 11111 ((f(:r) — (:r)) —

I—0C

(b) Let f: (a,00) = R. If lim zf(x) = L, where L € R, then lim f(z) = 0.
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(c) Let f and g be defined on (a,00). If 1211 f(z) = L and 11_{11 g(x) = oo,
then lim (f o g)(x) = L.

Tvwe. Sinle /Q/\ L&) = L, Mo roen <o,
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